Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER- IV EXAMINATION —Summer- 2019

Subject Code: 3340604 Date: 17-05-2019
Subject Name: Water Resources Management
Time: 10:30 AM to 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Q.1 Answer any seven out of ten. €20l SEURL UL cloll Lol AU 14
Define hydrology

cluALSd 53 ¥ (Asllol

Enlist various agencies assocoated with water resource management.
g AUA AUt WA AsouAct [AlAu A ofl 2] wotl .
Enlist different forms of precipitation.

WAAUGL ol EL EL 3L ofl ALEL vlatt A,

Define run off.

AL . 3 AHUUUS.

What is evapotranspiration?

WRU %ot WA 9 ?

Define aquifer

Al 5 Asl$R.

What is canal lining?

@R of AR A2A 9 ?

Define spillway of dam,

clluAFcd $A SH oll RUAA.

Give concept of watershed.

s (Aeiess oll vaulA W,

© O 06 Nuw o £ 00X bW owaovubdh o

oQ

10.  Define water harvesting.
0. v 5 LRl ol Fu2L,
Q.2 (@) Discuss water resource management is today’s prime need. 03
s ) AU 5A o AU Auctot wsell Al es3Raud. 03
OR
(@ Discuss importance of water reosurce management. 03
@) AU A wn AU AU of Hecel. 03
(b)  With neat sketch explain water cycle. 03
() e wLs(A WA wAS AU 03
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OR
Explain factors affecting run off.

AUALS A AUUR Sl URGLAN AH A
With neat sketch explain tipping bucket type raingauge.
21209 w5(A WA ot etde YsIR of clRAULEMIUS AMLAl.

OR
With neat sketch explain symon’s raingauge.

269 ULS(A A URAHGt of ARULE HIUS AHSIA
Enlist methosds of calculating average rainfall and explain any one.
ARULE IRLADL ol A ofl 20LE]l cwoticll 51e5 uLL Vs UHestA.

OR
For a catchment area, the coefficient of variation of rainfall based on existing
rain gauge stations is 25.80, and allowable error is 10%. Calculate optimum
numbers of rain gauge stations for the catchment.

WA AU HIZ, st TN ofl MU AL oll AUUUR UGt oll OJRULS
25.80 B AHAs A2 10% A A, UARA M2 AN ol B2 M
vyl A

Discuss Importance of ground water and present scenario

AU 5A A of Hccl Al clcdHlot R,

OR
With neat sketch explain confined and unconfined aquifer

229 BlglA WA vifQalR Wl woi@2a12 Ascllg UHLAL
Give differernce between shallow and deep well
[Be921 gl W GLSL el e ol cdAslclct Al

OR
Write short note on trainer type tube well

Rl YUSIR oll Yot At (AW ol cAvll.
State the purpose of artificial recharge of ground water

Y ol el AR oll 2 of cblet 3.
OR

Enlist methods of artificial recharge of ground water and explain any one.
& oll $Ecll aRQ(l ol I ofl ALel cottcll 51eF UL A s UM,
State factors to be considered while selecting dam site

3u e ofl uRleoll scll cawa tallet Hi Qe 2etdl UWRAHA of aglst

53,

OR
Explain in detail: Roof top rain water harvesting.

9URL Ut glRL cRULE oll Wl of AU uMesAl

Draw layout plan for diversion head works and label the components
staAcbel 35S oll A WIGB2 wetlet €131 Aol (Aol gl

OR
Write short note on silt excluder
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Rice Aeseys: (AN s ol AWl
Give difference between barrage and weir
WA Ul (AR AR ol sl Avll.

OR
Explain forces acting on gravity dam.

ARIBLA ol UR oLl cLol M.

Draw a neat sketch of earth dam, label its components and write fuction of
each.

3L ol ofl et (A €131 Aot [Aewoll ealcll €35 of sl Avll,

Write shortnote on reservoir sedimentation and its control

&5 olll vl a2l Hi 5iU of AU WA Aof (AAxaL.
Write short note on water logging.

Lot (AW &5 ol A,

Discuss role of co-operative society in watershed development.
AU 5A AUes13 AHL ol (Ao (st 1 oRst.
Explain various construction material used in canal linng.

o182 R Hi auRldl [QlAY alitustd AHIY UHs AL
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